a(6 @) (rad)

o 1.0
= o
S 12f-
L1
-
-3
€
8 R
=
<
- L..
o
o
©
1072~
.910532 E
T F
x 1.1
1
0.0k
=3
o
s
o
[e)
2
o

.........................................

-2 -1 0 1 2 3
TP n (PCAto beamline)

a(d cot(B))

Ratio
N
!

: : : : 2l
-3 -2 -1 0 1 2 3

f it l IIIdI SLE] I. U UlU
|t sTe 8
102

M~m
M le_step2. a2 Ot 2
M sq

SIeE 8
XefC Ge‘nerlc sl‘e pllO 0_eta2pOto2p5

...............................................

-2 -1 0 1 2 3
TP n (PCA to beamline)

10°E

107k

20 T 723
TP n (PCA to beamline)

z
T

o(d d.) (cm)

1074

107%k=:

Ratio
S
!

-3 -2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


